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-2 1.0

T-1 4.00 4.80| 157.0( 122.0 13

qu [kN/m?|  T-2 9.00 9.80[ 131.9| 123.8 1.1

T-3 [14.50 15.30| 289.6 | 216.6 13

T-1 4.00 4.80| 167.0( 134.0 1.2

pc |kN/m?[  T-2 9.00 9.80 139.0| 139.0 1.0

T-3 [14.50 15.30| 309.0 | 242.0 13

Py | kN/m? - - 132.33| 82.25 1.6
Km| kN/m? - - 45.099 | 39.297 1.1
2
-3
-3
/ (N/m2) | (kN/m2)|  (m) (m) (m) (N)
- - 441| 150 035 0.20 5733
- - 441 151 0.33 0.25 608.6
T-1 - 1220| 610| 151 033 0.25 839.2
T-2 - 1238| 619| 151 0.33 0.25 851.6
T-3 - 2166| 1083 | 15.1 033 0.25 1489.9
T-1 13 1570 | 785| 151 0.33 0.25 10833
T-2 11 1319 660| 151 033 0.25 9108
T-3 13 2896 | 1448| 151 0.33 0.25 1998.2
(910.8
1083.3kN) (13 1/4)

(303 361kN) (227 270kN)

(388 506 N)

)
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1/3
(6 7N/mm?2)
70

12

200gal 300gal

KeyWords



